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BB BINA 14, 898 14, 530 A 368 14, 530
2 FEIA 500 530 30 530
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3 RRH RRAAB SN 15, 669 12, 260 A 3,409 12, 260
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IBVZ = ON 5, 000 5,000 0 5,000
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3Z DMl E A 400 400 0 400
9 =2 BUF] B AL 4 Al A 180 180 0 180
152 BRI BE 24 4 A 180 180 0 180
10 Z DDA 3, 254 3,274 20 3,274
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HEEBINAG (D) 215, 368 213, 886 A 1,482 213, 886
1 AN H 148, 727 135, 027 A 13,700 135, 027
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3B E 5 21, 810 21, 080 A 730 21,080
AR BB A 53 35, 650 27,350 A 8,300 27, 350
5IBMRAA 1+ 52 3, 380 3,160 A 220 3,160
615 TE A 2 3 H 19, 300 16,910 A 2,390 16,910
HERH 30, 868 29, 841 A 1,027 29, 841
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AFNRIBUA 2 32 1,408 1,086 A 322 1,086
5EK B S 6,910 6, 800 A 110 6, 800
6 FHL i 2 S 2,725 2,920 195 2,920
SIEREE S H 810 770 A 40 770
9 (E M S 1,785 1,986 201 1,986
10232 S 30 40 10 40
WSt san 452 455 3 455
12 B E 6 2,607 2,515 A 92 2,515
13Xkt S 139 150 11 150
14 Bk 1,631 1,610 A 21 1,610
158 fEBL 3 H 860 886 26 886
16 LB A3 495 525 30 525
1TH B 5,180 4, 630 A 550 4, 630
191 AL 25 3 HY 380 370 A 10 370
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AEBINEE S B 849 790 A 59 790
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6Bk e = 811 783 A 28 783
SIEREE 1,350 420 A 930 420
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B s s 4t 1,900 2,100 200 2,100
HEEHIHE Q) 246, 928 230, 481 A 16, 447 230, 481
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A 4 FEFENTE FERUR I 0 0 0 0
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4 AN 0 0 0 0
ONIFEEETTIN 0 0 0 0
6 B AN 0 0 0 0
7 R —C AT I A 0 0 0 0
8wt K EEIA 0 0 0 0
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(1B R4 444 414 A 30 414
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7 ZDOMDIA 0 0 0 0
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| E SR ESEAS TR e X H 0 0 0 0
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4 LA AT G e ST 0 0 0 0
w5 AR EEAL T H 0 0 0 0
6 —E RX oy RIS T H 10, 933 11,139 206 11,139
(19— RSy R AL % H 10, 933 11,139 206 11,139
7 ZOMO R 0 0 0 0
8 Vi) 25 E ST = B A D A 0 0 0 0
9 DBEARERIH 4 32 H 0 0 0 0
ZDMDIEE X HEE (8) 10, 938 11, 144 206 11, 144
ZDMDIEBE &I X258 (9)=(7) - (8) A 9, 891 A 10, 339 A 448 A 10, 339
AEEFHEE LT EE AR Rt EZ
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THEE(2) + (5) + (8) 16, 676 16, 066 A 610 16, 066
WG — XA (3) + (6) +(9) 0 0 0 0
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